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SSC PART-Il (10th CLASS) o
GENERAL MATHEMATICS GROUP-| b - st u"LJJ 2
TIME ALLOWED: 2.10 Hours SUBJECTIVE ‘EiLe _E 10 = b

MAXIMUM MARKS: 60

NOTE: - Write same question number

AF

60

-LE,J}VCE._ J'f.f? UJJ/'GFJ!L‘;LJFLEUL(‘E{JW S

and its part number on answer hook, as given in the question paper.
SECTION- io

2. Attempt any six parts.
(i}  Define Rational Expressions.

12=2x6

S Pr) 4L

i) 1 P(ry=2mr, thenfind P(r)for r=3 and fr-—-%.

(i) Simplify- 4450 + 200 = 50
(iv) Factorize- 38d4° -1
{v) Factorize:- &’®’ + 512

(vi) Define the Factor Theorem.
ivi) Define H.C.F.

jviii) Find L.C.M by Factorization,

13 m 2133
3a'b’c?, Sathc

{ix) Write two methods to find HC.F

Eferlinge S 240
] Eailed )
r =22 4r=3 %k PO)=2nr S (i

-
f

450 + 4200 + 450 -4 (i)
36d° —1 -SUF V)

Fad oy
ab +512 «=¢f W)

gallsie W
Ei e i)

- M i) = & ; L .
-& b fauh (il

,f“'_)s il )li'fL"'r‘v;-s [ix)

3. Attempt any six parts. 12=2x6 & felizd 2z 34y
i) Write names of any two properties of inegqualities. -L,,:"‘E'tf—..awﬁ:dm,lmw (i)
(ij Solvethe inequality 2x — 1> § e —155 JIfalad i)
(i) Solve- |3x+4|=9 |3x+4]=9 AL i)
(iv) Write down the Quadratic Formula .;;?J.J.lrvl.ib/ .i_.J:,EI.*-:';LAJ;m. (iv)
(v) Solve by using Factorization Methos S5x =x* + 6 LA jﬁm( Sx=x"+6 (V)
(i) Solve:- 2x* =3x 2t =3¢ JAS W)
(vii) Define Order of a Matrix WALy il
(iil) Find x and » ff [I_J’; 3y1—~ 4} = [ _‘; H Ayl v s i

1 2 3
(ix) Ifr4=L 3:| then find A~

(Pifjﬂ}

i 1 2] ¢
i Ly =
LA AT A—[I 3}”



(i)
(if)
(i)

(iv)
(v)
(vi)
(vii)
(viil)
()

(2)

x’rm )
4. Attemptany six parts. K/\/ 12=2x6 -§;f¢@1ﬁ512 7 :-{3:( -4;,’:1.,“:*

Define Secant Lina.

LSt )

Define Complementary Angle. ..L,pi.grjﬁ Gyl il (ii)
Find the value of angle & in the given figure. _;J_‘.)?:h’}‘ﬁ-'gg i e F_.:B:_Ef {iii)

Y"\

Define Medians of a Triangle. AP bal sl ()
\What is Tangent to the Circle? Te bl Wil (V)
State the Pythagoras Theorem. _q/dg:.ai B (v
Write the formula to find the area of a Triangle. -uf’;ﬁnuri.)}k’g;e’aﬂ- (vii)
Find the distance between the following pairs of points:- (=4,3),:(2,1) _L,j/rr":'*’.b bl ba  (vill)
Define Collinear Points. A AEsA ()

SECTION-II o2

NOTE: - Attempt any three questions.  24=8x 3 -_é’f;:f',[.ﬁf..:‘.rlﬂr‘cf;é; s

5.(A)

(B)

6.(A)

(B)

7.(A)

(B)

8.(A)

(B)

8.(A)

(B)

Find &® + #* if a+b=5 a-b=1 ﬁg{r:"“....{J a* + bt ()5

,.J;_Lﬁf;éﬁ;j?.h’ Ix* -5  —x%+d ¢ x4 fbf_,—r.:,._b.;_,_;l.‘;-‘fé,:d;f:l.’-‘ (o)
Use the Factor Theoremto showthat x +1 isnotafactorof 2x' — 53 —x + 4

Find the H.CF by Division Method,.  x* +3r—4, x*+3x’' —6x-8 -qﬁ:‘*’rﬁﬁ;u;g}.ﬁf ()6

Solve:- [3x+4 = 7 Pr+rda=7 yAf )
Solve by Completing Square Method. ' =10x-3=0 dqfif"t‘jm"g,g;j: (-7
Construct a square whose each side is 5 cm, K55 ;’:ffr:b’;f-&_.hﬂ;‘.ﬁ ()
Solve Simultaneous Equations by using Cramer's Rule. LA 3 A4S ()-8

x+2y=3 x4+3p="5

1 5
a

a=1, b=? [f#h [

-
1 5§ b N 35 ; :
If 1 217151 10 thenfind a=7, h=7"

8o 16X L e s o 2 25 Bigme a0 UL el (.0
A ractangular field s of length 40 m and width 25m. Find the total cost of turfing the field,
if the cost of turfing the field is Rs.16 perm?2.

HERPL

PN EBAUGSL C(5.5) s B(-24) « A(4,-2) LEfE=k (L)
Show that the points 4(4. -2)  B(-2,4)and C(5, 5) are vertices of an isosceles triangle.
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210 = &
80 = AF

_q.i-.-:ufg_{ﬁjfnfﬁé E,u;:jjiful _UJ:-‘{E.L;LEE’L}LE i

and its part number on answer book, as given in the question paper.

SECTION-l ()il

2. Attempt any six parts. 12=2x6

(i)  What is meant by Rational Number§ ?

(i) Simplify:- m

(iii) Rationalize the Denominator hlﬂ-"s‘

(v) Factorize 6x* + 7x -3

(v DefineHCF

(vij Factorize 27x" +1

(vii) Factorize x* — 3"

(vii) Find HCFof 4pig'r, LA 2pg

§piqr' and 12p'g’
(ix) Write the methods to determine the square rcot of Algebraic Expressions.

3. Attempt any six parts. 12=2x6

(i)  What is meant by Solution of a Linear Equation?
(i) Soive- 3(2x+5)=25+x

(i) Solve- | 2x=3|=35

(iv) Solve- X' +4x-77=0

(v) Write the standard form of Quadratic Equation.
(vl Solver- (x=3) =4

(vii) Findthe Orderof- O =[4 7]
{viii) Find 4 - B |if

(ix) Define Singular Matrix.

[.‘1' C:‘.u}

- ferling e 24 )y

Sespferndr ()
NETT R ()
4__1.3. LEPES i)
6x + 75 -3 -E0F W)
~UI"C-§’£U?B';'-' (V)

276 +1 -€6F W)
X -y EGE Wi

g

4 8pigr’ 4p*d’r  (viil)

N W8 LA uRgA (i)

é.fjl—#tfijylf-—ru; ..3/()]}"

wie Soef
3(2x+5)=25+x & (i)
|2x=3|=5 EJS (i)

2 adx=77=0 - ESF (i)
Eeifeinim ()
(x-30 =4 -&F )
o=[4 7] -E* Wi
Jigke* A=B i

E et (i)



(2)

(ij  Define Vertical Angles.

AR )

f-l-hl. . 4 . .
4. Attemptany six parts. @\6\ 12=2x6 ek limge § ad )y

(i) Define Diameter of a Circie.

LIBFELe i)

(i) Differentiate between Major and Minor Arc of a Circle. -q’fum}uﬂm&'& SRt o (iii)
(iv) Whatis meant by Circum Center? el dnse ()
(v) Define Medians of a Triangle. A e sl el ()

W b B e=13 « a=5 funh ¢ pebabeafl )

(vi) Inarighttriangleif ¢ is hypotenusewhere a=35, c=13 thenfind 5 .

(vi) Find the area of a circle of radius 6 cm. A LS 6 (il
(viii) WWrite down the formula to find distance between two points. -u:'flJruEE’LJ?J”J-A;iuyn.f_'}E}n (viii)
(ix) Whatis meant by Abscissa and Crdinate? ?.:_;r;l,;’}-_ LT ) Ll ()

SECTION-Il r».2

NOTE; - Attempt any three questions.  24=8x 3 ..lé.:{;:.@fi&ﬂlfgfc.&[ iy

il 2 1 ; ; i (A
5(A) fx=+3 -3 thenfind the valieof () x - — i) x*+
X X
(B) Factorize:- 5x% — 32x + 12 5x% = 32x 412 o b Aet
6.(A) Find Square Root. 4x* +12x" + 2527 + 24x + 16 Sl
= 2 2 x* —‘1' o '2 2 X _4
Solve = 2 ;
(B) Solve S RIS S &S
7.(A)  The diffierence of two numbers is 9 and Skl e 162 A Ve 9 /6l
the product of the numbers [s 162. Find two numbers. |
(B) Construct a square whose each side is 3.5 cm. K 35U ekl

3IX —24=B.LEp X d=

I

32t 3

i =] S L gl T Ganbid X F KB
E,{A]I:*_4]e—44 en fin i 24 =

(B) Solve by cramer's rule. x+3y=1, 2x+8y=0 e aflps

?ﬁ..rub:-rr_.ﬁ,f}ﬂifbf I Jﬁ.-f"{%ljl.:'j'}: 15 LEF{JEJ,;?LHﬁL;IJj}Jq)@f,‘,ﬁ:ﬁﬁ 17
9.(A) A ladder 17 m long when set against wall of a house just reaches a window at a height of 15 m from the
ground.  How far is the lower end of the ladder from the base of the wall?
S SVL BBl C(0,-2) 4 B(3,-2) « A(0,2) WSSk
(B) Show thatthe points 4(0,2), B(3.-2) and C(0,-2) arethe
vertices of a right triangle.

(.5

()

(h)_6

()

()7

(o)

(uil).g

()

()9

()
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SC PART-Il =
NUMBER: 3265 SSC PARTHI (10th CLASS)
I;fF "
GENERAL MATHEMATICS GROUP- be - st Sl
TIME ALLOWED: 20 Minutes OBJECTIVE (%22 0=
MAXIMUM MARKS: 15 5= AF
f'icﬁ— i J:'-i"l;-illii;‘;fll'-’i.f-'fcfac. .'.,:-;,..'J.;hi{_ )‘ibﬁ-wl:fﬁ{q E’@ﬁ ..L,':'E:d‘_:_..l D.C:BA &L'ﬁéﬁkidﬁj{ oy
Sl Al e S Bubbles  Burfsbali R[S Sk | LS beie I 2
Mote: You have four choices for each objective type question as A, B, C and D. -L,_'.ff;d’:»'j;.;.urn;;r{,"lr

The choice which you think is eorrect, fill that circle in front of that question number, Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 A A

(1) A quadratic equation has a degree:- e brmkelibom (1)
(A) 2 (B) 1 (C) Zero (D) 3

(2] Thesolutionsetof x* -9=0 Is- e x'-9=0 (2
™ {5} ®) {9} © {£3} ) {3}

(3) Feramatrix ( AB)' =2 (AB) =9 &£&uds  (3)
(A) 4 (B) & C) B'A (D) 4'B"

{4 Ina unit matrix diagonal elements are:- -;,:ji.rruf,-if.,%hd.,)ﬁ@lj;__! AE(8)
(A) 3 (B) 2 (C) O D) 1

(5) A straight angle contains:- etk ()
(A) 90° (B) 180° (C) 270° (D) 360° ]

(8) The number of angle bisectars of a triangle is:- _;;_fimlﬁullﬁ"ti._,Ifsui&liif (B)
(A) 1 (B) 2 (C) 3 (D) 4

(7) The co-ordinates of the origion are:- il nelwl e (7)
(A) 0 (B) (1, 0) (€ (0, 0) (©) (0 1]

{8) Area of a circle with radius  "#" is:- -;;.t»sj;ﬁég. et JiE e (8)
(A) ¥ (B) 2nr (C) =’ (D) m#?

(9) An Irrational Number that contains radical signs is called a:- -a:-.,t'L}/ el Al AL @)
(A) Mixed Surd FUu4#  (B)Surd AL>  (C)Rational Number +(Pt (D) Natural Number s}

(10) @” - 3ub(a~b)~b" =9 a' —labla-b)-H =7 (10)
(A) @ + b (B) (a+b) (C) & - b’ D)(a-b)

(11) Faclorization of x* —16 is- WA ¥ -1 (1)
Ax=2)(x+2) Bi(x-4)(x+4) [C)(x=-2)(x+2)(x" +4) [DJ1'I—_:'3}[I+4}

(12) A Linear Polynomial is of Degree:- ok BA0sad (12
(A) 0 (B) 1 (C) 2 D)3

(13) LCMof 12p'¢?, 8p" is- e 12p'9°, 8p' (13)
(A) 24pq* (B) 24p°q (C) 24p%? (D) 12p%q

(14) The solution setof | x | =3 is:- e ¥ x|=3 (14)
(W) {3} (8)1-3 } (€) {£3} @) {0}

(15) Foreachnumber "x" the absolute value of "x" is denoted by.- -.;_L'l._:'._ffa,-lif.:.EJE’J "' skr (15)
(A) * (B) -« (JES (D) 0
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PAPER CODE 2017 (A) o A
N'UMBER: 3262 SSC PART-II (10th CLASS) £
GENERAL MATHEMATICS GROUP-I o/ 7
TIME ALLOWED: 20 Minutes OBJECTIVE (/.2 20 = &
MAXIMUM MARKS: 15 15= AF

fe of | A3l Lip e LU Ese b iy g J6012 -2 5D sl C B A ARl vy o)
LA -Erf_lﬁ:;,ﬂj':}éy':,.':&;r‘&fL.;gi Bubbles _Fﬁ;r’-"k-’hlﬁﬁ_uﬁuﬁc.ﬂ‘hri_fz Sy L LJED:EI~5JEJ;-_Q L

Note: You have four choices for each objective type question as A, B, C and D. --_d;';’l\-_J’:f gl My

The choice which you think Is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A Ay

() (a+b) +(a—-b) =7 (a+b)Y +(a-b)Y=7 (1)
(A) a® + & (B} —dab (C) dab (D) 2(a* + %)

(2) An irraticnal number that contains radical sign is called:- el tly ekl A AL (2)
(A)Surd FLL#  (B) Natural number sv b (C) Mixed surd #Ti#6¥ (D) Rational number w2

(3) Alinear polynomial is of degree:- ok AL )
(A) O (B) 1 (C) 2 Oy 3 )

(4} Faclorization of x* — 37 is:- (A) (x=y)(x*+ %) -_Lu';f;; =y (4
B x-y)(x —xp+p') (C(x-2)(F+mp+y") D) (x+p)(F+mp+y")

(5) The number of methods to find the H.C.F Is:- e ASSUEILL SN (8)
(A) 4 (8) 2 (C) 1 (D) 3

(6) Sclutionsetof | x—3|=5is- -.L-:»:-g"i:’ B | =35 (6)
(A {-82} (8) {82} ) {-8,-2 } oy {8-2}

(7) Any value of the variable which makes the equation & -.;..Jﬂ-:r'f tc.f.:..;b,:.mu”_-.-lsL«-LfJ Fodn (7)

true staterment is called the:- )

(A) Inequality wihsd (B) Equation =lis  (C) Solution f (D) Constant J*~

(8) Solutionsetof x*=1 Is:- - ff =1 (8)
(A {£1} B 11} ©) {i} D) {-1}

8) The number of techniques to solve a quadralic equation is:- SRE LS g (9)
(A) 2 B) 1 (C) 3 (©)0

(10) Formatrices (4 + B) A and B areequalto- <tndigl B o A Udi(4+ B) (10)
(A} 4 (B) B (C) A'B’ (D) 4" + B

(11) In a unit matrix diagonal elements are:- -g,gl,::u,liﬁg’:}u.‘.f't?éf};}ﬁ.{' (11)
(A) 1 (8] 3 (C) © (D) 2

(12} A straight angle contains:- ,g.rr@-:k’lﬁ_.:u (12)
(A} 180° (B) 90 (C) 270° (D} 360°

(13) The rumber of Altitudss in a triangle Is:- ...;:_{:;:'!fll.l;Jl Cltralefl  (13)
{A) 1 (B) 2 {C) 3 (D) 4

(14) Area of a Semi Circle is:- g uf.t'.ﬁ,..;;fa:’h..i;’ (14)
(A) mr? B) — (C) nir D) 2nr

(15) The coordinates of the origin are:- Alnebel e (15)
(A) 0 B) (L 0) (C) (0, 1) (D) (0, 0)

36(0bj)( 3 }-2017(A)13000  (MULTAN)
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